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OR(3721dT)

Explain the term polymer and monomer. How can
you differentiate between addition and
condensation polymerisation ?

98 3R THad Ul Bl ATEAT I |
Hhad 3R Hg-1 9gdd & Hed 31U fvd
gHR faHT & |

9. (a) Explain the process of vulcanisation of rubber.
(b) Explain Biochemical oxygen demand. 6

(AN AR B dedAIZIE B Ufhar &1 arer
N |
@) TS TRl feais o) e
N |
OR(3121dT)

(a) What do you mean by quantum number?
(b) Last electron of an element have the following
set of all the four quantum no:-n=3,{=1,

m=20,s =+% calculate its atomic number

(3N FaicH &A1 | AT F T FHS & ?

@) fodt aca @ sifaw saagia @& IRy
Faieq aer frifed @ — n=3,4=1,
m=0, s=*}+ dcd B GRATY] G&AT
el |
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2019(Even)

Time : 3Hrs. Sem. I/I1
Basic Chem.
Full Marks :70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥l @ IR T, UAS U BT A 13752 |

Answer all five questions from Group B, each question

carries 4 marks.

qu-B & wft ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |

P.T.O
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5.

Explain the method of formation and uses of

Neoprene.
4

frrafim & dvaver &) fafer vd SuAT &1
quiq BT |

OR(3721d)

Explain Arrhenius theory of ionisation.

AR &1 smaNaver Rigra & ar=ar
BN |

Write down the electronic configuration of ferric
and cuprous ions.

BRE T FPF I BT gAISID
fa=ama fore |

4

OR(3721d)

What is the difference between natural and
synthetic rubber ?

ATPHfad TEaR qAT Geadfa w9 o
IR B ?

N2009

(i)

(iif)

(iii)

(iv)

3 1602202/1601102/P1601102

Jo ReRxi® & sH18 1 8 ?
(31) =me A

(@) ufa e ufa 9+

(&) |+

(%) ufa |

The percentage of oxygen in air by weight:
(a) 78%

(b) 23%

(c)21%

(d) None

S Bl gfte 9 gar 4 SifRfioH
&1 yfaera gar g ?

(31) 78%

) 23%

(&) 21%

() @13 =L

Neoprene is a polymer of
(a) Isoprene

(b) Chloroprene

(c) Butadiene

(d) None

P.T.O
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Answer all Five Questions.

) fr=ifea afel 9 fea o faga
dAISTH ¢ © ?
(31) SiCl,
(¥) CH,CI1
(&) MgCl,
(®) ci,

GROUPB

5x4 =20

Il uig gl & SR o

2.

Write short notes on refining of Aluminum.

gt @ ReiT wr wfera fewofi
ford |

OR(3721d)

What is difference between potential difference and
electromotive force ?

favarax ¢d faga ares 9a § T IR
2 ?

N2009

(vi)

(vii)

(vii)

(viii)

5 1602202/1601102/P1601102

SYAT 991 2 IRl fHar Srar
2

(1) W=IENRY Qi &1

(@) SIEUFNRI gefia &1

() STSHIART T 1

(]) CoTFA3NRT wefia &1

The process used for the purification of Al
s ?

(a) Hall's process

(b) Serpeck's process

(c) Baeyer's process

(d) Hoopes process

vffm @& gfgsver A fea ufear
&1 ST fear wrar @ ?

(31) Bfer ufdar

(@) wxu® ufear

(&) SR ufear

(?) g ufear

Number of pi(n) bond in acctylene is :
(a)l
(b) 2
(©)3
(d) 4

P.T.O
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(xvi)

(xvii)

(xvii)

(xviii)

fr=ifea 4 9 g arq 4 sferead
e 9 qgfva galagia gt ?
(31) Fe”

@) Co”

(@) Ni’

(@) Mn”

Oxidation number of Cr in H,CrOq
(a) +2
(b) +5
(c) +6
(d) 14

H,CrO; ® 3rmafiavor de&r 2 |
(1) +2
@) +5
(@) +6
(?) 14

According to Aufbau principle, the correct
order of energy of 3d , 4s and 4p orbital is
(a)4p <3d<4s
(b) 4s <4p<3d
(c)3d<4p<4s
(d)4s<3d<4p

N2009

x)

(xi)

(xi)

(xii)

7 1602202/1601102/P1601102

Sl @ A B I I HIVT IHIT B
(31) 104.5°

(&) 109°

(&) 120°

(%) 180°

How much chlorine will be liberated on
passing one ampere current for 30 minute
through NaCl solution ?

(a) 0.66 mole

(b) 0.33 gm

(c) 0.66 gm

(d) None

e UFRR @) faga garT 30 e @
NaCl "l # yarfed & w fea-n
FANIS S~ BT ?

(31) 0.66 HIcT

(€) 0.33 ¥

(|) 0.66 U™

() DIz el

Which of the following contains Ister.
(a) Nylon

(b) Nylon-6

(c) Dacron

(d) None

P.T.O
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10. How much time is required for complete

11.

decomposition of one mole of water in electrolysis
using a current of 1.5 ampere. 6

Ueh Ald o & quf fagqd ameed & fog 15
tftgaR &Y fagd aRT &1 YT Hd g
ATALAD FHA BY ITOET B |

OR(3721d)

Write down name and formula of different
important ore of copper. Describe how copper is
extracted from its ore ?

Al @& WA ARSI & A Yd SUD gA Bl
ford | 9fd &1 YT SUd P A foa
yebR fear smar 2 ?

Write short notes on any two of the followings :-
(i) Pauli's exclusion principle
(i1)) Green house effect

(i11) Glass wool P

fr=faRaa 7 9 fod <1 R dfdra fewof
fore |

(31 Ufell &1 Iuasiy Rigra

(@) sRa g udrq

(&) T Sl
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10. How much time is required for complete

11.

decomposition of one mole of water in electrolysis
using a current of 1.5 ampere. 6

TP Ald o & yuf fagrd ameed & fog 15
TR @) fagga aRT &1 99T S)d ge
JATATAS A BY 0T N |

OR(3721d)

Write down name and formula of different
important ore of copper. Describe how copper is
extracted from its ore ?

Al @& WA JAXDI & A Ud 9D gA Bl
ford | 9fd &1 YT SUe I A foa
yebR fear wrar 2 ?

Write short notes on any two of the followings :-
(i) Pauli's exclusion principle
(i1)) Green house effect

(i11) Glass wool ¢

fr=rfaRaa 9 9 fod) <1 wR 4fdra fewoft
ford |

(31 Uiell &1 Iuasi- Rigra

(@) sRa g udrq

(&) T Sl
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